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PART -1
Answer any three of the following questions.
1.  What is the meaning of frustration? Describe the causes of frustration. 14
2. Describe common conflicts of our society. 14

3. Describe “Characteristics of adjustment motivated situation” as a base for severity of

stress. 14
4.  Discuss the key aspects of stress. 14
5. Write the reason for getting married and not getting married. 14
6.  Explain present and adjustment problems which are there in pre-marital behaviour. 14
7. Discuss the factors affecting selection of life partner. 14
8.  Explain marital style and marital interactions. 14
PART -2
9.  Fill in the blanks : (Any 8) 8
(1) The mental state that occurs when there is no success in achieving the goal is
called
(a) Conflict (b) Frustration (c) Pressure

(2) The mental state that arises when the problem is not solved immediately is called

(a) Conflict (b)  Frustration (c) Stress

(3) There are factors of severity of stress.
(a) Two (b) Three (c) Four
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Tolerating stress without maladjustment is known as

(a) Stress tolerance (b) Severity of stress  (c) pillars of stress

The severity of stress depends on how do we the situation.

(a) Contemplate (b) Meditate (c) Perceive

There is no clear difference between the role of men and women today it is called-

(a) Pre marital relationship (b) Male female Role (c) Eliminating sex Role
Meeting a young man or woman is called dating.
(a) Before marriage (b) After marriage (c) Both
plays an important role in mate selection in India.
(a) Beauty of a person
(b) Socio-economic status
(¢) Individual himself

Couple who want to live a married life while keeping the home in the Centre,
prefers marriage style.

(a) Co-partnership marriage

(b) Fun marriage

(c) Home centric

The reason for getting married is to get the satisfaction of .
(a) Psychological needs  (b) Sexuality (c) Both

“Dating” is the process done before marriage. Yes or NO ?
(a) Yes (b) No (c) Neither

Imbalance caused by frustration and pressure in nervous system is known as

(a) Severity of stress (b)  Stress tolerance (c) None of above

Socio- economic status of an individual is in choosing a spouse.

(a) Important (b) Secondary (c) None of the above
In type of marriage there is constant cold war going on in the family.

(a) Home centric (b) Fun marriage (c) Conflicting marriage
The cause of frustration is for a person who lost his home due to the
Cyclone.

(a) Internal (b) External (c) Both

In case of road accident conflict between taking the patient to the hospital or to
reach on time for job is exampleof ~~ conflict.

(a) Commitment V/S non involvement
(b) Selfish V/S devotion
(c) None of the above




